
Directiva ordered
● (S2, transp. 46) Supongamos 3 hilos y reparto cíclico de 

iteraciones.

a[0]=...

H0 H1

a[1]=... a[2]=...

H2



Directiva ordered
● (S2, transp. 46) Supongamos 3 hilos y reparto cíclico de 

iteraciones.

a[0]=...

fprintf(…a[0]);

H0 H1

a[1]=...

fprintf(…a[1]);

a[2]=...

fprintf(…a[2]);

H2



Directiva ordered
● (S2, transp. 46) Supongamos 3 hilos y reparto cíclico de 

iteraciones.

a[0]=...

fprintf(…a[0]);

H0 H1

a[1]=...

fprintf(…a[1]);

a[2]=...

fprintf(…a[2]);

H2

a[3]=...
a[4]=...

a[5]=...fprintf(…a[3]);
fprintf(…a[4]);

fprintf(…a[5]);a[6]=...
a[7]=...

a[8]=...fprintf(…a[6]);
fprintf(…a[7]);

fprintf(…a[8]);


	Diapositiva 1
	Diapositiva 2
	Diapositiva 3

